Substitution Cipher Example 1


	FVR FBWNV QPVBN SBEV LCKV


FQKLWT IKQGGVP USV LQHPN 


CF NC LBHT QHUVWWQIVHU 


LVH USBH USV CHV USBU, QF 


USVT DANU UKQVP, USVT 


OCAWP QHEVHU B OQGSVK 


USBU HC CHV OCAWP MKVBX.
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Substitution Cipher Example 2

	Y DZLR MREGAYORM YC ODR QGPCOF 


GS VRMSGBM, ZVGPO SGPB WYNRA SBGW 


VPSGBM'A, YC ZC RUQZLZOYGC GB LZPNO, 


AYU SRRO VRNGJ ODR APBSZQR GS ODR 


XBGPCM, ODR SGNNGJYCX ZBOYQNRA, 


VRNGCXYCX IGYCONF OG ODR EZBOYRA 


JDGAR CZWRA ZBR XYLRC YC CPWVRB 


ODBRR.
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Substitution Cipher Example 3

	JM AUSMUW SZ BMQAU ZU SNM 


DAVHS ZD DMBVGFVX GUVMHSVALSMW 


HGBTFVAUM JFVDFVM. JM HNFPP


MUWMFRZV AU HIASM ZD SNAH SZ 


CMMI SNM GUASMW HSFSMH ZD 


FTMVALF UMGSVFP.
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